EARAZROREIERT — 2 N—XBISY —F 2018558 16H (/) 3MEIFIRI1H

mﬁﬁ.—?i‘z” C3 #¥5%—#% (xwlw | lmEmml - |5 ) eom 8
[A&4] 1 % :400,000 @ ~ 23#%&:80,000H” ~ 33#&:60,000H . 43#:40,000H 5 7 :20,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- = g AR & 145, —-3-3- . — JNEHAN (Gtma
N BEE 4 5 ZtM 1(4_5)7 3-3-3-3 | 40.8 3 (5_328) iledon B
RINATA—h— B:VUTULIETFR o BE
N i 5 | AllE 1:46.2 2-2-2-1 |42.3| — 1 484 | KNSR (i)
2 7|¥EfM¥EX 54.0 @ 1/2) (+2) | HERE =
R:2RYIYRIRX B:TSAT7X14T ALTINT 7 — L
= N LA A 2 : —-7-7- - EAEKEE (teE
S - DIREAZUZ R [ S I * S |eEE
LBy TELAVF— BNLTFUHIT =4S
> HEBX : —4-4-! - FEEFM (deimE)
Al nyznnzz t6 | fiw 1.(426).6 4-4-4-5 | 41.4 4 (4_824) e B
L:Nd B:ky bTryiar FHE%S
. ZUBSAT 146. -1-1- . — 288 (dtmE)
5 2 XaJIAINT— 4 5 5Eé.o T 1(34/64)8 1-1-1-1 | 43.0 2 ;1:22) Eacpﬂéi BE
RivvULTyk B:FLO-F Y BEZ2Y K
L # 5 | BEF 1:47.4 5-5-4-4 |42.2| — | 7 | 48 |JIBHEA (timE)
6155 RoT—2 56.0 (3) 0 2wt =
R:XE&—Yrsa-X 8=/ u kL FET 7 — L
. . iR : —6-6- - HEEM (LiEw)
7MW 4| F—FF—d31-1Y i 1'{‘3%'0 A Rt ° ‘2(;2 millEk?
R:VZRE—3Z24— BFXUT VIS~ B J77—54
® I —F—EBIERL
|2=3F= 2,7,3,1,5,4,6
2ol=7r= 2,7,3,1,5,4,6
da=3r= 2,7,3,(1,5),4,6
40—+ — (2,7),3,5,1,6,4
[ N3
H OB 3 710 714K 3-7 200M B = 3-7 500 3EHE 3-6-7 8904
8 B 8 160M 3-6 700 B H 8l 1,410 K31 3-7-6 8,590
7 1309 6-7 360

ABICOVWTRDTEEERROODE. TR LIV,



